508X
oeL=%

&

SERFENR+ AN

yﬂoo

18&#%  1=259.02m
ERR29FE EIXE L=127. 71m(125. 91m)
|
VU®200 i=11.0%0 L=66.79m (65. 89m) VU®200 i=11.0% L=60.92m (60. 02m) !
|
= 5 = ‘
y=1000 M“ 14 95510 VU 6200
| = I FEALET)
7 1 "
/" ’é;? §
- - - i - - = -~ - - 74 s gl
5 = = = | £ 58 3 8|52 4 ¥
& | : 3 | & & = b4 H 4 ) KoM 2 EL=155 190
8 = E3 | 2 < & & & /
e el i s 20 H —
| @ - \1 () = ~
S B . < — rare ) — I SR — i
L (3 =R Wom a2
e —— e —— . | —— — = ——
| L : / e |
| L
| W ;
| Y
| ‘ ® S
‘ T
\ N
| wsoso—
b
R 1 ¥
B R
BEER EB% = == =
A1 AT @ 1. ETFEEICE LTI, &ROWERE &Y RSt
HEI2Z AT ®
BHEE (B R) 7Y L&Y IERPORRETS L.
= - § I —
2. WIMMSICE T B RENROWERVEEHE (1 & E E R)
5 = _— - — - BMIBBA COAFRRISHS SRR E DML,
CWBIOWE, (RAEECHEIETSC L)
ELE= 3 - ERMOWHAD L, i T % g | PHROFE WETHKBREER
(4512, W2+41. SHH3EI 25 2 THEIRM (OCIP 6 400) AR FHKBRFHIE
129U T, BHILOBONBS 1, WEEN
Tk e FEE
£ A A
& R §=1:250 ‘ HEES 1
% b 400 < 2# %
8 & 2 L
3 g g
’ BEER FETETKESTKEIHR




(=1
(-]

132l
(=]

o1
(=]

KBM. 1 H=149.212

~
S
=)

812

1B8#%  1=259. 02m

S

>
%'

6

D
B

®
@

&

%

L
742

e
DA S
PR o
e
L) %

. T
D

p

@@)650
0.0%

151. 560

Oz
5.0%

150.920

o
S |
<
DL=135. 00 s % 5
[ ] 3% ] I m I [
‘ tEI ‘ ‘ 28.64 | 38.15 21.85 | 20.00 | 19.07 ‘
T T T T
cnm c1m [ cmE
‘ TEIT@EEL ‘ ‘ 66.79 33.60 19.65 7.61 ‘
T T
E=TH PREE (72T 7 1) |
11. 0%0
o E
Ty N g g g i g 2 38
O VU ¢ 200
g #
T T T T T T T T T
5 3 3 5 e 2 3 = 3
B g g g BB g g
T T
EMEERE = = = = S s & &
< < = < " = < <
B 5 B B & 2 - : : s
T
MR A z s i -
= ] = = 2 = 2 2 £
‘ B8 8 H 1B | ‘
T
L=273.52 }

EETE

KBM. 2 H=153. 190

(1584%)

H

£ 4

FR2EE mETHKBEREE
m+ABR FHKBRFHRIE

&%

fit # X

EI ‘EE%%

FETLETKEBTRKETER




M4+28. 64 M5+19. 85

GH= 150. 85 GH= 151.44
FH= 148.662 FH= 149 812
— f—
6420
6610 4270 2150
4360 2250 ‘
Homs ‘
!

. . U-300

DL=145. 00 _ _ ) R R R i _ I DL=145. 00 R . _ _ . R R . I
M4 M4+48. 64 M5+39. 85
GH= 150. 57 GH= 151. 01 GH= 152. 11
FH= 148.347 FH= 148. 882 FH= 150. 032
FH= 148. 327
6260
4150 2110
6500 ‘
6800 4370 2130
4390 2410 ‘
- 3 ;i g El u-300
: HIVP§ 75 - '\
PEGT5 / / T
DL=145. 00 _ DL=145.00 _ _ B R R R . R I DL=145. 00 _ . R R . R R . I
M4+8. 64 M5
GH= 150. 65 GH= 151.18
FH= 148. 442 FH= 149. 594
FH= 149. 104
6734
4384 2350
‘ M4+28. 64 M5+19. 85
' W4 W4-+48. 64 N5+39. 85
* E ——T M4+8. 64 M5
o T% % FROFE METHKBRERSE
j ; e M+ AR FHKEEH RIS
AT AnEen CTJ & % s E (/2
VU ¢ 200
£ A A
FH R $=1:100 HEES 3
-
DL=145. 00 - DL=145. 00 - 2H A
BEEL FEN LT KEBTREIHR




M6

GH= 152. 85
FH= 150. 262
FH= 150. 242

2230

HIVP @76 E g

VU 6450
(FRoket)

VU200 W 200

(=]

L:

145.00

T | DEE DEGKBERER
m+ AR R kS BEEBER

[T R (2/2)

& R $=1:100

REES

EEER FEN LT KEBTRETHR




I TAR#EMm

TBITEE

$=1:20
BEET TIEENE BEHER
Al # R
MEMRL
S I
@
[— GL
1AL
—1—=]
R M uy
(R-i# RC—40) o 100mY
(zoft AL ) mEL
£ P == M= A B LA (FIL S CESNCAEE) R A 4
by - P E
g T g
b T i I () Frre xR (L) Frr By | wE R A g (%) h1 m h2 (m)
i /] 2BE9R
3 e - BEMKH em
s 0 m ‘ - cm cm
o ° s 12 |1 5<HST 8 12 t=5mm 2. 00m 15. 36 12%7.5 1 50,00 100~130 50. 00 0.50 -
&l DR BED) . B=333mm v o
T 3 b e - i 0.0128t/m
o s sl = . | mEmxE
W = ! I% t=5mm
— ERMRIR 2% 1. 8<HS2. 0 2. 50m 19. 20 12<12 1 50. 00 100~130 50. 00 0.50 -
1% t=4mm B=333mm B=333mm x4. 0
0.0128t/m
1BHitEB @ BRARR
n
& 3% |2 0<HS2. 8 12 t=5mm 2. 50m 19. 20 12x7.5 2 100. 00 100~130 100. 00 0.50 1.30
% B=333mm x4. 0
B mm | 0.0128t/m
- wE | =
FUE R HINEB %o | mEmRE
g 1=
A = B RIRIR o= %o 48 |2 3<HS2. 8 l;“:;::: 3. 00m 2008 |izxiz 2 100. 00 100~130 100. 00 0.50 1.30
0.0128t/m
Vug200 650 850 s BEAXE
m
5% |2 8<HS3. 3 ig =5mm 3. 50m 26. 88 1212 2 100. 00 100~130 100. 00 0.50 1.50
HP$300 900 1100 B=333mm x4. 0
0.0128t/m
HP¢600 1200 1400
IF
4000
—_— E “t/ E: 250 3500 250
BR - BEERISE
S$=1:20
2HER (FRI7ILE) = =
© & } } — | — } f —
&R A8
. . - g . - 1 1
REREBI HBEBHE7AIY 13mm t=30 RET BEBHET7AIY 1383mm t=50
BEM F54La—F PK-=8 BEM F54La—F PK-3
— HEARE % mE L
#BR BEREM RC—-40 t=120 LRERE HERSEM RM-30 t=100 B e BsTerm esTeT—— —_—
TEBE ARE RC—40 t=200
B SEREAER
B B
ookt
FIRBE
HRHRL)
T
B R
.
(RC—40)
TE4 FR29FE TETHKBERER
4 ABT T UK T E
() | s +T - MEEAT - tRTHER
(@)
I £ AR
‘ e R HEES 5
B ]
EEEL FEHETKESTKEIHR




=
=

T UR—ILEER

G50 R ohR—IL 6600T7H 41 >

FR2ERE M THKBERSE

H
@ ARBERUER 10
FEAEES OuF
50
mEY T 100
EH. 150
/ 300
A[@ = B @r MEIOYVY 450
- N tai - 600
- 300
600
900
EEIOY Y
15, 1200
1500
5 900 5 1800
2 1.050 2% 600
1100 °00
kIO v 1200
‘ 1500
@ 1800
ERIZO Yo 130
O-© wam ORON
820 820
10, 600 10 10, 600 10)
TUk—NE RUk—ILE
mEy >y ] wEy >y
MEIOVY #MEITAvY
—_
R ER _Jis|
(SUS403KL, E=-LEE) —
E®#JOvY
g
2 - ; g
D 4
] g g
5 9 '75 75 9 '75 R
R UR—IVIEEH ' T '=
= \\L "U%u_k ot Y
L0 /‘» X v LFEYELELA:2)
of 8 - M =20
KR V.
g TUk—LEAH 1‘!\ ERTOvY
4unR—ravsy—t Ligbgﬁ
18825 5~150m
1100 1100
D t
VU ® 200 200 8
VU ® 450 450 10
HP ® 300 300 30
15T VR—VEBT (1B/MLY)
BEARE ) AvnN=pavy =+ (m3) EEYELEL (m2)
FEUE (m) n (mm) v, — — — - —
HEEY HE HE HE BEEY HE
2/ ( 40.00)+4( 0.90°257 /402040, 90
vug200 35 110°2% 1./4%0.20= 0 190 |MHBE/EQITOD2000+00 0. 172 0. 739
*70/4-0. 2040,90) 40, 035/2-0. 20°2% 7 /4/240. 90 +0.20¢7 /240.90=
S L0 0.90°2¢7 /4-0.3040. 90
HP$300 29 110°2% 1./4%0.20= 0 190 |MHBE/EQITO02000:00 0. 183 0.790
*70/4-0. 300, 90) 40, 028/2-0. 30°2% 7 /4/240. 90 +0.30x7 /240.90=

T F 2 | mt B FHKBFRTSE
[T HI1B - 2B UR—LEBER
£ A A

# R 6
24

EREA

FEH LT KEBTFKEIER




